Grayson Rural Electric Cooperative Corporation

109 Bagby Park ° Grayson, KY 41143-1292
Telephone 606-474-5136 » 1-800-562-3532 © Fax 606-474-5862

August 24, 2009

RECEIVED
AUG 2 7 2009

Mr. Jeff Derouen PUBLIC SERVICE
Executive Director SRS
Kentucky Public Service Commission

211 Sower Boulevard

Frankfort, KY 40601

RE: Case No. 2009-00103

Mr. Derouen:

Please find attached an original and five (5) copies of information requested in the above
referenced case.

Please feel free to contact me at (606) 474-5136 if you have additional questions.

Sincerely,

A

Don M. Combs
Manager Finance and Accounting

A Touchstone Energy Cooperative %’ﬁ}{



Commonwealth of Kentucky
Before the Public Service Commission

In the Matter of:

Application of Grayson Rural )

Electric Cooperative Corporation ) Case No.
For a Deviation from 807 KAR 5:041, ) 2009-00103
Section 15(3), Sample Master Meter )

Testing program )

I certify that the above responses to requests for information are true and accurate to the
best of my knowledge, information and belief formed after a reasonable inquiry.

Don M. Combs, Manager of Finianice & Accounting
Grayson Rural Electric

Subscribed and sworn to before me by Don M. Combs as Manager of Finance and
Accounting of Grayson Rural Electric, this 24® day of August 2009.
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NOTARY PUBLIC, KY STATE AT LARGE
My Commission Expires: /- § - RO ]|
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1. Refer to the Cost Savings/Conclusion heading of the revised application
filed on July 16, 2009.

a. In the assumptions section, Grayson indicates that 5,000 meters
are tested over a three-year period in the current meter testing cycle. Provide the basis
for the three-year period in the assumptions to calculate the savings. What is the basis
for the comparison between the three-year cycle of $573,618.73 and the eight-year
cycle of $127,470.837?

Response: Basis for 3 year period - Grayson has tried to incorporate multiple
tasks that are conducted in the field ( meter testing, meter reading, and various
inspections of facilities), rather than doing each task separately.

The $573,618.73 cost reflects the total current cost of meeting the required testing
of 15,000 meters over an eight year period and the $127,470.83 represents the

total cost of testing 300 meters per year over the same time period.

b. Should the annual savings be the yearly cost of $191,206.24 less
the proposed cost of $15,933.85, for an annual savings of $175,272.39 per year?

Response: Yes.

C. Confirm that the column labeled “# of units” refers to the number of
employees required to perform the task of meter testing. If so, provide the basis for the
number of employees required to test the meters.

Response: Yes, as it relates to labor. A transportation “unit” refers to a truck and

its cost per hour.
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d. Provide the basis for the benefits expense of 77.11 percent of labor

and explain how it was derived.

Response:
item 5/1/2008
Rates per Dollar of
Labor

FICA 7.65% 7.65%
State Unemployment 0.009 0.90%
Federal
Unemployment 0.008 0.80%
Worker's
Compensation 4.25% 4.25%
Vacation 15 DAYS 5.77%
Holidays 9 DAYS 3.46%
Sick Leave 12 DAYS 4.62%
Pension 16.46% 16.46%
Health Insurance $ 1,299 29.86%
Life Insurance 3.29%
Business Travel
insurance $25! EMP 0.05%

77.141%

e. Other than having the opportunity for cost savings, provide any

other operational benefits to Grayson by changing to the proposed sample testing

program.

Response: This function could much more easily be incorporated into other
employees duties when it might be convenient — thus incurring oly an

incremental cost.
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2. Refer to your filing of July 16, 2009. The table entitled “Meter Groups”
reflects that Grayson has a total 15,263 meters. Periodic meter testing pursuant to 807
KAR 5:041, Section 15(3) requires a utility to test all meters every eight years.
Accordingly, Grayson is réquired, on average, to test 1,908 meters each year (15,263 +
8) in order to satisfy the periodic testing requirement of 807 KAR 5:041, Section 15(3).

a. What is the estimated annual cost to test 1,908 meters? Explain
and provide all supporting calculations.
Response: if we use the same criteria as was stated in the Cost
Savings/Conclusion heading of the revised application filed on July 16, 2009 -
assumptions for testing 300 meters, the average cost per meter would be $53.11
per meter. This would equate to $101,333.88 for 1,908 meters.

b. Under your proposed sample meter plan, how many meters will you
be testing annually. Explain and provide all supporting calculations.
Response: Under our proposed plan we will be testing 290 meters annually. The
population of each meter group will be compared to the Lot Size in the Sample Size Code
Letters table. The sample size code letter will be selected from Inspection Level IT for that

Lot Size. The sample size for that group will then be determined by using the Master Table
for Normal and Tightened Inspection for Plans Based on Variability Unknown.
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Sample
Manufacturer Type Population Size
1 ABB AB1 1,627 50
2 Schlumberger C1s 4,452 75
3 GE 1210 100 10
4 Landis & Gyr MX 5,433 75
5 Landis & Gyr MX 3,606 75
6 Landis & Gyr MS 45 >
ip
ANSVASQ 2192003 I
&
i
I ;
g8 Tuble B3 Standard Deviation Method :
131 . . PR w
Table A4-2! ] Master Table for Normal and Tightened Ingpection for Plans Based on Variability Unknown N )
Sample Size Code Letters® ¥ {Double Specification Limit and Form 2—Single Specification Limit) o :
N
Inspection Levels ';
Lot Stze Special] General H Sample Acceptance Qualidy Limits {normal inspection) "g
s3s4|1 wm 3 Stz | Sample E
2w ¢lB Bl BC Code | Sie | T .00 )as) 25| 40| 65 |1o0]150] 230400650 1000
9 10 1508 B|B BD Letir Mo M MM MM MMy
16 to 35{B B{B CE
% . aolo olens B 3 l ! Y1 [ iso|mssfnlne
5o o 5 5loEG c 4 149 | 546 1088 1641 {234l 0 3
9 1w 150|B ClEFH ) 5 0041 134|333 ] 582 | 980] 1437]2019]2655
a2
lg: :“ ;ﬁg ‘g 'E’ g ﬁ; B 1 0005 [0087[0421 105 | 203|354 | 53¢ | 840) 1219 }1734 (2330
2 0 5
o e swlc eler s F 10 | aom Joimjosojanisliar [ 21327 [4n | r26[ 05|15 1707
501 o 1206[ D FIH I K G 15 oss [0 fosonoselias | 209|306 | 432 ] 635] oum{uwalisen
L2010 o 320(E G KL H 20 | 0228 10356 (0.531|08A11133 | 2031283 | 410 6.18] BYS{i30I[1R67
o -
3200 o 10000} F Iy T L M | 35 | oz {oars |osslos |13 | 200|286 [ 397 | 598] ns|ieo]irss
10000 o 35000 G Y K MN 35
35,000 o 1500000 H J L NP i ] 35 102y {oamjossslosss]ias [ oer| 266 | 30 | s8] s 10s)le67
;g’o’gg: "’d 500.000 : : ‘;;’ : i 55 3 so | ez fossslososfoms]it | 1m 247 | 344 | s vt |usfise
X an over 83
gg 7 |02 |oae|ode omsfres | 1sof22 | 307 | 48] 0108t asar
i M| o |02 |03is|ossfoesa|ioy | is2iais | 306 ] 467] essjom|in
. . . 4
E‘hcIhw;y.govcfmux'nsmspeih:pb_ybvn.mblesdde'f‘cmlrwn r;;g N 150 | 0202 [029210412)0.630]0946 | 1.42| 205 | 288 | 442| 636( 986]14.18
¢ properties of the n stributi , 3 3
e e Dfinmﬁ;n";;“m,;“pp‘;igg,:‘;mf;“u‘;“; poo| o0 | o2es [naes foanfoesiosss| 14| 20e | 286 | a39| 652| 9mo|iant
reasan to believe that the frequency distribution is normal. 0 1| a0 fesioliso]2s0] 400 650 iom
Bk B L p 1) .| . W
“Sample size code letters given in body of table are appli-
cable when the indicated inspection levels sre to be used. Accoptance Quality Limits {lightened inspection}

AW AQL values are in perceat nonconforming. T denotes plan used exclusively on tightencd inspection and
provides symba! for identification of appropriate OC curve.

Use first sampling plan below amows; that is. both sample size as well as k value. When sample size equals ot
exceeds Jol size, every item in the fot must be inspected

‘DcpyegHt Amescon Scorty b Disey
Provdsd by DU st fcavon »E1 AG o4 CLALITY COATHIRT, QEraram
- Ao et el A 1w B 345 Ui Resse XTA AR GUT



._7}'6/1 Z

e 3 oF 3

WiTness o Oops unss
Awoneg ME Ciacsg

C. What is the estimated annual cost to test the number of meters in
part b? Explain and provide all supporting calculations.
Response: If we use the same criteria as in 2 (b) @ $53.11 per meter, 290 meters

would cost $15,401.90 to test.



